Pg 30-31 #3-20 (skip #17)
3. a. A= %bh

b. b ==

¢. b=12mm
4. a. V= Bh

10. y=-+—=x

11. The yshould have a negative sign in
front of it.

2x—y=35
—y=-2x+5
Y=y —5

12. a. C=K-273.15
b. 26.85°C



13.

14.

15.

16.

17.

18.

19.
20.

a. I =
Pr
b. t=3yr
L= d
"

_ e
m=-;
C=R-P

A- %sz
/= 2w
Ve Bh
3
w = 6g — 40
The rewritten formula is a general

solution that can
be reused.



Pg 146-147 #2, 5 - 15 odd, 19, 21, 24

2. y=x*+ 6 does not belong because it
is not a linear equation.

5 y=—5
Ay
15
10
—3-2-1 [\l 2 3«x
ul ]
:m
15
LY
7.
-
—F
3-2
gl
e
3-2

lﬂ
Y
11. y=—%x+4
_"|l Pl,v
~—
"'q.._....
3 \~\ut
2
1
.
3-2-1 ¢y 1 2 3x




13.

15.

19.

21.

Ay
1
1
3
BE) T 2 3%
0. -3)
e
I LY
|rG=_%|
Aby
x=—ﬂ.5]
(—0.5, 0} _
—3-2-1 1 2 3x
Yy
a y=2x+3
12 ™
10 ﬁ
/
8 ra
; /
4 ). 4
4
2
0
o1 2 3 4zx
5
y=-——-x+2
2
|y——%x+2
\ El_v
X
X
13—2—1_2 \, 2 3 %]
MEAY
M EEA
|

b. about $5

C.

$5.25



24,

Balance (dollars)

YA

250
200

150

10047

=8

50

Dn 2 4 6 B 10x
Number of months

b. 6 mo



Pg 153-154 #1 - 33 odd
1. a. BandC

b. A

¢. no; None of the lines are vertical.

3. The line is horizontal.
YIS

1

11. 0
13. 0

15. undefined
11
6
19. The denominator should be 2 — 4.
m=-—1
21. 4

23, -3

4

17.

25.

> W

27.

I
—
e —



29. k= -5

3
1. a. —
31. a T
b. The cost increases by $3 for every
40 miles you drive, or the cost
increases by $0.075 for every mile
you drive.

33. yes; The slopes are the same between
the points.



Pg 162-163 #1 - 11
1. (0,0

2. no; Sample answer: The graph of the
equation does not pass through
the origin,

3. no; Sample answer: The graph of the
equation does not pass through the
origin.

4. vyes; y = 4x; Sample answer: The
graph is a line through the origin.

5. yes;y= %.x:; Sample answer:

The rate of change in the table is
constant.

6. no; Sample answer: The rate of
change in the table is not constant.

7. i
45
40
35
30
25
20
15
10

5

0

Amount raised (dollars)

012 3465678 9x
Tickets

Each ticket costs $5.
8. a. y=9x

b. It costs $9 per hour to rent a kayak.
C. $45



9. a. the car; Sample answer: The
equation for the caris y = 25x.
Because 25 is greater than 18, the
car gets better gas mileage.

b. 56 miles

10. a. fingernails; Fingernails grow about
0.7 millimeter per week and toenails grow
about 0.25 millimeter per week.,

b. Fingernails
¥
. 3.&“ \Vl
¥ 25
= @ /
2% 20 Vi
oE 15 / >
n=
-E- 1.0 / o)
05171211 Toenails

Dﬂ12345x

Time (weeks)

The graph that represents fingernails is
steeper than the graph that represents
toenails. So, fingernails grow faster than
toenails.

11. See Taking Math Deeper.



Pg 170-171 #1,2,4-6,7 - 15 odd, 16, 17 - 25
odd

1. Find the x-coordinate of the point
where the graph crosses the x-axis.

2. yes; The slope is 3 and the y-intercept
is 0.

4. B; slope: 2; y-intercept: 1

5. A;slope: ;: y-intercept: —2
2 .
6. C;slope: = y-intercept: 1

7. slope: 4; y-intercept: —5

9. slope: —;: y-intercept: —2

11. slope: g;y—inter{:ept: -1

13. slope: —2; y-intercept: 3.5

15. slope: 1.5; y-intercept: 11

16. The y-intercept should be —3.
y=4x—3
The slope is 4 and the y-intercept is
-3.



17.

19.

21.

¥ [T T T 11
30008y = —10x + 3000}

2500 |-
2000 Jf

1500
1000

500

a -
0 100 200 300 x

Time (seconds)

Height (feet)

. The x-intercept of 300 means the skydiver

lands on the ground after 300 seconds. The
slope of —10 means that the skydiver falls to
the ground at a rate of 10 feet per second.

1”4
2 ﬁ 4 5 x
y=ﬁk—?}

x-intercept: —g



23. [ b | x-intercept: 2;3—0

i] 1 2 3 456 “‘i

=

25. a. y=2x+ 4andy= 2x — 3 are parallel because
the slope of each line is 2; y = —3x — 2 and
y=—3x + 5 are parallel because the slope of
each line is — 3.

b. y=2x+4andy= —%x + 2 are perpendicular
because the product of their slopes is —1;
y=2x—3andy= —%x + 2 are perpendicular
because the product of their slopes is —1;
y= —%;x: — land y = 3x + 3 are perpendicular

because the product of their slopes is —1.



Pg 176-177 #5, 7, 9, 11-13, 14, 15, 17
5. y=-2x+ 17

7. y=éx+lﬂ

11. B
12. A
13. C

14. They should have let y = 0, not x = 0.
—2x + 3y = 12
—2x+ 3(0) =12
—2x =12
xX=—-6

15. a. I 7

130 1 //
120) 7
110
1000
g0 .
a0 //
?n,
G
=

0 1 2 3 x

b. $390
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Pg 182-183 #5 -9 odd, 11,12 - 16, 18
>. y=x+4

7. y=;x+l

1
. y=-x-—3
9. y 3x

11. The x-intercept was used instead of
the y-intercept.

1
=_—x—2
y=.x

3

. +
12. y X+

13. y
14. y
15. y
Y
Y

I
o O Wk

-2
= (0.7x + 10
= —140x + 500

16.
18.



Pg 188-189 #1-17 (odd) ,19, 20, 24, 27
1. m=-2(-1,3)
3.y—U=;x+a
5. y+1=-3x—3)
?.y—8=?x—®

9.y+5=—;x—n

M. y+4=-2x+1)

13. y=2x

15. y= ix

17. y=x+1
19. a. V= —4000x + 30,000

b. $30,000
20. a. y=4x-30

b. y= —%err-l

24. [T 4

6

F 3

V1%
27. D




Name:

Chapter 4 Review

Insptts

Period:

Graph both linear equations on the coordinate plane on the right. Make sure you use an input/output table with

at least 3 ordered pairs for each.

1) y=3x-4

Graph both of the equations on the coordinate plane on the right.

wish.
3y =3
4) x =1

x

I |

I

;(~/> -y
3(0) -Y
3(1) -f

You may make an input/output table if you

5) The slope of any line can be written as a ratio that represents its __ /"/ 8: overits U7



Tell whether the slope of the line is positive, negative, zero, or undefined. Then find the slope if it exists.

6) | Ay 7) M\: y ’ 8) ! Ay @/

> > PR
S L2 bt § L1 6.2 pd

-

v |

w ‘
Kind of slope: (/ /tafc///\t/ Kind of slope: Q%ﬂﬁ‘ﬂ/ Kind of slope: //05/%‘/“(/

m= UW";’M/ m= ,%' ;"/ m= %‘
[

9) The slopes of parallel lines are the Iy

10) Find the slope of the line that passes through the points. Write your answer in simplest form.

/
a) (-1.11)and (2,10) m=__ = b) (-2,0)and (4.9) m= ‘52:
/77:/”'//':14 m:@ _7 _2
Z”/ 6 ya’z & 4
O (5.2)ad (5,7 m=_ Lhders/ d) (4.6) and(2,6) m=__ O
_ 7-Z & = 64 %
/77 -~ z — —— = -
’g/‘; o —Z"V ”6

11) A plant is 3 inches tall when you purchase it and grows 2 inches per month. Write an equation that

a) Equation:

represents the height y (in inches) of a plant that you purchased x months ago.

(7 = Jat 5

b) Graph this equation and make sure to:

e Label you axis.

e Use at least 4 ordered pairs.

ekt S
\Q‘\NNQV\'\\INN'\Q




Graph each equation using the slope and the y-intercept only.

12) 3 13) Change to slope intercept form and graph

Gmmyy=—5x+4 6x—3y=-9
—Bj c—twv—9
:7 = 275 /’j

Grows b
d
I

Identify the x-intercept and the y-intercept of the graph.

14) v 15) v v 16)

(]
[

4 g . ¥ #

iy

x-intercept : [ Z{ J ) x-intercept : / 5 / 0 >

y-intercept : (9,1 2 y-intercept : ( 0, -/ ) y-intercept :

Find the x-intercept and the y-intercept of each equation, and then graph it.

17) —4x+5y=20

x-intercept : _ | ’220)
(0.3)

o

(%) (0,

Yx 220

W ™~
N\

5‘ z
2 2

9 4

A ’; D x4 2

R 4

x-intercept : /‘; / J ) y-intercept : [ a y) | g












